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Ratio to ALICE

7000 GeV pp Soft QCD

= I T I T | T I T I T I E _'(Q
— -1
— i Jo
- Cross section(Mx < 200 GeV’) 13
=
— __q—
— = To)
= =n
B o
] "
= ittt B et =M
— * Ho
— 1=
B _x
B e
— - m
= 3 <
— -] m
— —©
— -10
L — ™M
—i
— — .=
— m  ALICE 3%
— --3-- Herwig 7.2.0 default 1=
| —a— Pythia 8.176 default =
SH— ¢+..Sherpa 2.1.0.default.......... OO = §
— v
- 419
o
—— — 2
= | | | | | | | | | = =
- | 3
— -2
1
| Tttt B _
| . —~0.5

| " L " L " L " L " | " L " L " L " L " |
6999.5 /7000 7000.5

sgrt{s} [GeV]



	Contents
	Page 1


